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100 224 5,145,000 3,670,000 1,475,000
170 ZH=2A0Z4Y 4,939,000 3,670,000 1,269,000
173 ERAIHEERZSY 4,869,000 3,600,000 1,269,000
01 =nEzRIsY 3,311,000 2,561,000 750,000
O8] BTLAY Qtiz 2.561,000,0004 = 2,561,000
ORAA 2|7 2| skrtE HH| 500,000,000% = 500,000
OAE S0{Z012 sk ZH| 250,000,000¥ = 250,000
02 ERAHEERZTY 1,545,000 1,039,000 506,000
OYES|A| |SSA) 970,600,000% = 970,600
AZIRNRS S| ZHRIB(HR) 574,400,009 = 574,400
03 Al=HEZRZSY 13,000 0 13,000
OAE S0{Z012 sk ZH| 13,000,000% = 13,000
175 SAEEZY 70,000 70,000 0
09 VI[EISAIREZY 70,000 70,000 0
ORI R EZ 70,000,000& = 70,000
180 |REAZ 206,000 206,000
181 =MAYNHZ 200,000 200,000
01 &=MAUAZ 200,000 0 200,000
O=MAYNZ 200,000,000& = 200,000
182 D|e= 6,000 0 6,000
01 o= 6,000 6,000
OAHHE sl AtEE 6,000,000& = 6,000




